FICHA 4-REPASO DE ENTEROS 2° ESO

1-/ CALCULA

a)7 + (-9 £) 4 - (=7)

B) [ =25 § = (- 38} gy 183 & { = &)

c) (+ 12) - (- 12 ) Ry 7 » (=1 ) » { = 9
d) |- 71 = |- 5| 1) 105 ¢ (= 3) & 5

g) (= 3) = 15 % [ = 9) 1y 38 ¢ = 9)

2-/ RESUELVE ESTAS SUMAS Y RESTAS
a)3 - [ (5-8) - (3-26)]

B} 13 = [8 = (§=F) = & & 3] == = T}
g} [(=312) = {=20) J—~[{+=08) + (= 8] = (18 = B =

133

3-/ RESUELVE LAS SIGUENTES OPERACIONES COMBINADAS.
a4 + 36 3 9 =50 ¢ [:212 + (17 = 4})]

b)13 - [8 - (6 - 3) -4 - 3] ¢« (- 7)
@) (=% 3) =3 = [ (& i =) m (Bo== o] =2 [ 2

( + 6)]



